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OR

(er) s,c4 G srci, E{e erq ff a-qa q+an h-{A t q-qfu

ccl4 gtfi 3vq fi 6q6 q{6R c-& 6-rdr Eq} u

CCln does not act as Lewis acid while SiC/n and

SnC/, do so. Why?

(q) rq 3rdBsT { n+a 3rfn{-mT{6 or erRq rE fror t r

onur€ftc r

Strong oxidising agent do not exist in liq. NHr. Give
reason.
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dq, sus '3r' { oilo cftaqsfr sar t, fue Ed ?Fr=[ qffi t r

so-s's' il aqt-fi rer uu-s's' { 4d st-0-q qsr t r su-s'sr' o)
wq-*w-draol r

Note : Section 'A', containing 8 very short answer type questions,
is compulsory. Section 'B' consists of short answer type
questions and Section 'C' consists of long answer type
questions. Section 'A' has to be solved first.

EIUS-'3[' (Sectio n-' A' )

fqqtfud ffi agutnto csd fi vtrr v6'qr d qM
{ t t (Answer the following very short-answer-
type questions in one or two lines.) ( t xa=A)

mr- 1. Re(tV) ot fi-eqifto fr'em ftfuq t Re fi qqqg r4er=zs

Write the electronic configuration of Re(lV). Atomic

number of Re = 75.

s9r-2. Z3* ion b u-our g+fiu enquf 5 qurqr 6fqc I

Calculate the spin magnetic momont of f3t ion .

P.T.O.
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c27-3. Mo G r gor ern E\t t', erq'lZ

Mo and W have similar properties. Why?

sar-4. "cRr+{ q,'ot qz ftfuq r {€'q sc@'d erg or erY-flffmwr
gs{Qlr ftfuC t

Write the lbrmula of prussian blue, write the oxidation state of
metal present in the formula.

qaq-S. frq{ 3rgcrflqt qsl 3Tftqq t? t'o s<retq io< qrflr$q I

What is disproportionation reaction? Give one example.
qer-6. fiAe trqr t Z soer"r dfr* ,

What is chelate? Give one example.

e?n-7. L^(OH)., Lu(OH). torfuoeTd-qtr cd Z

In(On3 is more basic than Lu(OH). . Why?

ceq-8. ddq h iarlW ff qdq r-g-ft ftE t: BBr. > BCL > 84,
l]qsr{q I

Acidic nature of halides of Boron are as follows
BBr, > BCl. > B{, Explain.

go-g-'4'(Section-' B')

f\=rffha ag sil{lq ,Te--rl' + srr{ 15o-2oo
gf<-TftCI d t I (answer the following short-answer
type questions with word limit 150-200)(SxZ= t O)

cac- 1. (3T) rjo-qq rs eflt'a urE t oq nfr-q ri-ar t r Eqta

Transition metals are less reactive than alkali metals.
'vVhy?

(e) un'. cq r* { fu'fl-or gE-fiq elrquf qgo I ,
Among Mn2* and V2* which one has larger magnetic
moment?
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(e) fi=fttuno1srffi\:
i)tw-efiut-w sErFrq{f,r

ii)er5le r+rrlcrctzrdr

Explain the following :

i) Co-ordination isomerism

ii) Hydrate isomerism
qaq-4. ftqfrifud o) qqHrEg 

'
3{) Rrftqq ++ 3r{RftorgT s{-d{en !-qRfd orf,r t r

E) fie}cr{$T o) gdt gn a-o ow eia: rroqur rq 6-6t
t'l

Explain the following :

a) Cerium exhibits *4 oxidation state.

b) Lanthanides are called rare earth elements and
inner transition elements.

OR
(sr) ftqfufuodqcsrsg,

i) ++{r5s1t-g;-d-{

ii) qa?d-.e)qEsG c'ea leflqr$s { {{qri-dr

Explain the following :

i) Lanthanide contraction

ii) Similarities between post lanthanides and
post actinides.

(q) ftar+o b frgq eilW aen sr{d"-frir @{im fi fiq
€tier 6) {ar{c r

Explain relation of dipole moment and dielectric
constant of a solvent.

P.T.O.
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s) qrt +fiqlT erg, qlg eis d-rTi q ,95 ggu t't
The heavier transition metals are more prone to
metal-metal bonding. Explain.

OR
sqEIEg (Explain) :

3{) 'ng'il rarqorr{+f,{urqqf znrqH'ca, q} eilhot}-ct

tr
I"t ionisation energy of 'Hg' in higher than that ol
'cd'.

q') qerT €Fqur trf S {ig,d gEa6: r( Rq E\t t'q-{fu
Bdqrq Edq q{mqul M h rrg,d tow spin (d Rr)
dt t't
Complexes of I't transition series are mainly high
spin while those ofsecond and third transition series

are of low spin.

ser-3. (3I) 'ffi-ffi 3lris flqf-ffi 3ilts tl'- Er{ oen ff gfr 6ftq t

'Pourbaix diagram is the best diagram.' - Justify this
statement.

(q) c{s b sq-{raddqf,dr ftrcia a qufq ffftq s{r6{Er

sko Ns{fufi den trdqo €zi-u-d-dr qqsEgl

Explain Werner's theory of co-ordination. What is

primary and secondary valency? Explain with example.
OR

(3r) sfe Glrt-s 61 qrflEqr

Explain Frost diagram.
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OR

(a) xrcrro, bqdqdtooTqt erffiorrogqdqqsrgc r

Explain the oxidising ability of KrCrrO, in sulphuric

acid.

(s) qTTetT6{iffiur erq t, rifrqqrE trq'ta

Iron is a transition metal but Sodium is not. Why?

ca{-2. q{11 G 
"-{$ 

ft€'fiqq t 3nc qqr srs"i * ?

What do you understand by Curie and Curie-Weiss law?

OR

Edq{t-o-qur aMb il€'t orBftqw+rq{$qHE\ r

Explain the stereo - chem istry of elements of 3'd

transition series.

qar-3. ildt h Fm.{Er it ftRd Rr€idi ff ersr 6frq r

Explain the principle involved in the extraction of metals.

OR

rielq'mdT iiq * 3TrqR w ftqfufud q}ffio) A €rq-{ {Hsrs( :

or) lco(Na,)")'. ion q) 
lMnBrol'- ion

Explain the structure of the following compounds on the
basis ofValence bond theory :

a) lco(Nn,)")'. ion b) lMnBro)'- ion

qqq- a. d-+{r{st fi germru ff crr< frBqq frfh or edq 6ftq r

Describe the ion-exchange method for separation of
lanthanides.

(3)(6)
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OR uug_,{'(Section_,C,)
Td&{r{scr€Tqrtzrqe+fs.rqf 61a}-aqift6fr "{rsfuso{
q6d{uf orf*ftf,{urorfienoioTsd*Aft\ f\=rffoa dH s-d{tq ,,a;I} + \nI{ 3oo-35o

ST6(-fr{r { { t (nnswer the following long-answer
What are actinide elements? Write the electronic
configuration of actinide elements and discuss their 

type questions with word limit 300-350)(sxs=ts)

important oxidation states. qsq- 1. (3{) ri \q v fr ftq-fuq 3Trflftf,<oT qqrrlr( aqr t?
q9q-5, Frqfrfod i gF€ 3IEit dql s1gdii o1 dfri . What are various oxidation states of Ti and V ?

Select Lewis acids and bases lrom the following ' (q) rioqq aq 3rS sd-{o *i t'a qrflr$c 
r

Transition metals are good catalysts. Explain.
i) AtcL ii) sq (s) Cu' , Cu2' t erfUo {sn'4 t r $qsEg I

iii) Hro iv) co ca* is more stable than Ca2* . Explain.

\) R-OH vi) Fez* OR

oR '7' eio * -1 6 {flTlq guil d ffifuT €q{ {

lfigEg: 
qqgr$q:

or) 3f*fuffir fi ertRro rq-oor or oc ftq i , ') 
* ii) qRa-d,eftd 3fiflft6iur 3ruoen

iii) qq-.ftoquTs-qf
The order of expected strength of oxyacids is as

fbllows : Explain the general characteristics of 'd' block
elements with respect to :

HCIO4 > HCIO. > HCIO2 > HCIO i) Size ii) Variable oxidation state

q) 5r{ql 3ttf fi efiEro q-{ddT or mq ftq t : iii) Ionisation energy

The order of expected strength ofhydro acids is as cg;I- 2 T{qgEg (Explain) :

follows : or) Bftq sq ?tds {io-ruT M b ata u$ro gur ftrcrt t'r

HI > HBr > HCI > HF Elements of second and third transition series
exhibit catalytic properties.

P.T.O.


